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H3C S7500E R63xxZR5IRRA 6todfEiE R HBIFDE

—. BREX:

WITERR, B/ 6to4MLRiEITMERiN%6t04 switch (Switch AFISwitch B) 5IPv4
WLEIEE, J97 SCH6to4MIZZ i Host AfIHost BZ B EIE, EEfRS6t045%
B,

6todMLE 2 B BB R E 604 ML IAYENL K 6104 switchBt E6to4itiit,

Switch A_E#22[0Vian-int100BYIPvAtEtIE/2.1.1.1/24, #&ipK IPv6itbilt i S FA6toARTER
2002:0201:0101::/48, XYULEIEHHITFRIKIS, Tunnel2/0/0f85F32002:0201:0101::/64
FR/, Vlan-int101{FE2002:0201:0101:1:/64F R,

Switch B_E##2[0VIan-int100fgIPvA4ltbiE/95.1.1.1/24, HEHRRKIPveltbit {5 FA6to4RI4R
2002:0501:0101::/48, XTULEIERHITFRIKIZ, Tunnel2/0/0f8F32002:0501:0101::/64
FR/, Vlan-int101{5FE2002:0501:0101:1:/64F R,

—. BAME:
Vian ine100: Vian mel00:
Gtod switchA 5755y 511104  Stod switchB
Vlan mtl: Tlan mtl:
2002:0201:0101:1::1/64 e 2002:0501:0101:1:: 164
2002:0201.0101::1/64 2002:050:011::1/64
Host A: Host B:
2002:0201:0101:1:: /64 2002:0501:0101:1::2/64
=, EESEH:
(1) SwitchARIERCE
# {FREIPVEEE K THEE.

<SwitchA> system-view

[SwitchA] ipv6

# BB Vlan-interface 100A93tEHE,

[SwitchA] interface vlan-interface 100
[SwitchA-Vlan-interface100] ip address 2.1.1.1 24
[SwitchA-Vlan-interface100] quit

# EeE#EOVlan-interface101A9thhL,

[SwitchA] interface vlan-interface 101
[SwitchA-Vlan-interface101] ipv6 address 2002:0201:0101:1::1/64
[SwitchA-Vlan-interface101] quit

#BELBWSHEE, FEIRNE, BmOIIARNSREEN, FEERO EXES
TPIIRE,

[SwitchA] service-loopback group 1 type tunnel

[SwitchA] interface GigabitEthernet 2/0/1
[SwitchA-GigabitEthernet2/0/1] stp disable
[SwitchA-GigabitEthernet2/0/1] port service-loopback group 1
[SwitchA-GigabitEthernet2/0/1] quit

# BCE6to4f%iE,

[SwitchA] interface tunnel 2/0/0

[SwitchA-Tunnel2/0/0] ipv6 address 2002:201:101::1/64
[SwitchA-Tunnel2/0/0] source vlan-interface 100
[SwitchA-Tunnel2/0/0] tunnel-protocol ipv6-ipv4 6to4

# FETunnelEOME FECERIES | IV SIREET.
[SwitchA-Tunnel2/0/0] service-loopback-group 1
[SwitchA-Tunnel2/0/0] quit

# FCEEI BR9ibiE2002:/16, T—BkATunnelEORIERSEEH.
[SwitchA] ipv6 route-static 2002:: 16 tunnel 2/0/0

(2) SwitchBRIERZE
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# (FREIPVEsL R INEE,
<SwitchB> system-view
[SwitchB] ipv6
# e &2 Vlan-interface100A93thALE,
[SwitchB] interface vlan-interface 100
[SwitchB-Vlan-interface100] ip address 5.1.1.1 24
[SwitchB-Vlan-interface100] quit
# BRE O Vian-interface101f9itbik,
[SwitchB] interface vlan-interface 101
[SwitchB-Vlan-interface101] ipv6 address 2002:0501:0101:1::1/64
[SwitchB-Vlan-interface101] quit
# BEBWSHESH, FEIENE, BinOMAZNSRELER, FEEROLEXAS
TPIIRE.
[SwitchB] service-loopback group 1 type tunnel
[SwitchB] interface GigabitEthernet 2/0/1
[SwitchB-GigabitEthernet2/0/1] stp disable
[SwitchB-GigabitEthernet2/0/1] port service-loopback group 1
[SwitchB-GigabitEthernet2/0/1] quit
# BCE6to4fIE,
[SwitchB] interface tunnel 2/0/0
[SwitchB-Tunnel2/0/0] ipv6 address 2002:0501:0101::1/64
[SwitchB-Tunnel2/0/0] source vlan-interface 100
[SwitchB-Tunnel2/0/0] tunnel-protocol ipv6-ipv4 6to4
# fETunnelEOME FECERKES |V SSIREIA].,
[SwitchB-Tunnel2/0/0] service-loopback-group 1
[SwitchB-Tunnel2/0/0] quit
# BCEEIBANE2002:/16, T—BkATunnellZRIEHSIEH.
[SwitchB] ipv6 route-static 2002:: 16 tunnel 2/0/0
() WIFFCELER
SR EEREZfE, Host ASHost BETLAEEPingi&E.,
D:\>ping6 -s 2002:201:101:1::2 2002:501:101:1::2
Pinging 2002:501:101:1::2
from 2002:201:101:1::2 with 32 bytes of data:
Reply from 2002:501:101:1::2: bytes=32 time=13ms
Reply from 2002:501:101:1::2: bytes=32 time=1ms
Reply from 2002:501:101:1::2: bytes=32 time=1ms
Reply from 2002:501:101:1::2: bytes=32 time<1ms
Ping statistics for 2002:501:101:1::2:

Packets: Sent = 4, Received = 4, Lost = 0 (0% loss),
Approximate round trip times in milli-seconds:

Minimum = 0ms, Maximum = 13ms, Average = 3ms

M. EEXER:

(1) EEfEREIPVERERINEE,
(2) FEEE—MWSHEA, FEHOMALSREER, FEEROLXASTP
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